Assignment 31

Take two seeds out of 16 shown on the slide “Major Forms of Sentences”: fourth
in the first column and seventh in the second, namely

(A) We/l/He + are/am/is//were/was//will _be_+ [not] + giving ... .
and
(B) [Wh...] + Have/Has//Had//Will have_+ we/l/he + [not] + given ... ?

for expansion. Construct your own sentences (18 for case A and 36 for case B)
with different verbs (replacing 'give') in them to illustrate all the cases that may
arise out of these two seeds.

[You may replace “we” with any other plural subject.

Similarly, “he” can be replaced with any other singular subject, except “I”.]



